0|
‘.Lj_o

mj



[ toll 7bg ggke wolo] 9| Zho} 7] 52 AAQ
@ cm? © m? © a
@ ha @ km?2

ceeggel ol : of 4]

e =
-




2% t 08 FAZ vehhle] Ag
B Q.

7h A 1EE 1} 23 1000 @

Be
"



4. A3 Ego 2AE= 20kg Ayt & 100 Zo] FAE E ¢ 1%
oA L.

aa: t



5.

ohe £390 Holt % m2 U







@ 240a =2.4ha
@ 0.2km? = 20ha

3 35000a = 3.5 km?

@ 170000m? = 17a

@ 5.9ha = 59000 m?



8.

= oA 7 |2 A2 ol AUA]

@® 100m? @ 10000a

@ 1ha ® 10m x 100m

® 0.1km?



9.

2014 Wol 7} 7}

@D 4m?
@ 4000 cm?

Z = A8 ol

o

@ 40cm?

® 40000 cm?

® 40m?



@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 Bio]T},

® 380kg + 4200 g = 380.42kg



9kg - Dg

300g > @kg

58t =Qkg=®@g
4600g = 4.6kg = Ot

@® 90000 @ 0.03 ® 58000

@ 58000000 ® 0.0046



12, AAZgel A A 5] Holi @ 4 21X FakAL.

- 160m - _
’,/
100 it
\_| \
“90m -



13. thg =39 Hol: % a 214 F5HA.2,




2.

ha



15. o7} 3.2km? 9 AAZY BFo] oA Al2e] Zol7t 1600m &
wj 7}29] ol @ m 17 AL

B e
=%



16. o5 T FAE FAR o= A AAQ A9 7%

|

PA L.

7.7 £-2000000 g L. 6000000g+5 t

. 4000 kg-+800000 g 2. 12 t-620kg

Ck-
Ei =N



17. & A% 299 Hols B em? AU7}

~-30m----



7F27F 600 m, A =27 450 m

18.

A



19.

the 1% e nhEm mere] Aol RAE 252t Utk o] At
1a.2] 2AE 2 kg U7




ob, M 4
=

)

v

K om
oS

2 oo g
L1l

Zo|7F Z+2F 1200 m, 1500 m ©] 1, =07} 2km <1 Atrte]
S Al o] FA oA Ho] Lol 1 gyt o
Fo] & W2 B Q1] LA Q.



